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3152|  83,189| i 13,253| 13,253 -
3,063| 2978|378 - JTEE R BN 3,965 129 3,836
438 479 FHI BT EE 472 - 472
544 027| Mkt R BT RE 697 129 568
1,890 1322| =3 R i 841 - 841
reg
1 | TIERL TS 13 - 13
190 250  BEEEY 1,942 - 1,942
976 1,360 gjﬁgﬁiﬁﬁ@@%ﬂ 1,114 196 918
%)
848 650 J-HrfR 650 - 650
5 26| FEM - - -
63 218 HEHTER 131 - 131
60 466| 333 196 137
209,574 212,105| &% - $58h - fHEL 212,105 - 212,105
- REBICE)
R e
5 5| @& 5 - 5
209,569 212,100 #5Bh ~ #BHEAAS 212,100 - 212,100
1)
128,160| 1,901,366 | E:fifr 1,455,131| 1,452,631 2,500
128,160( 1,901,366| HAthZEH 1,455,131 1,452,631 2,500
363,811 2,282,985 4B 5 1,748,094 | 1,498,599 249,495
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